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1. Description
 The TK10565/6/9/M is an audio power amplifier IC capable of low voltage operation. The coupling capacitors to the
speaker are not required, because of BTL(Bridged Tied Load) configuration. Built-in stand-by function can reduce
supply current at stand-by mode. Therefore, it is suitable for any battery-powered portable equipment.

Block Diagram / TK10565M, TK10569M Block Diagram / TK10566M
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2. Electrical Characteristics

Test Circuit / TK10565M, TK10569M Test Circuit / TK10566M
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TK10565M
VCC= 3.3V; VSTBY≥ 1.6V; VMUTE≥ 1.0V; RI= 20kΩ; RF= 100kΩ; CREF= 0.1µF; RL= 8Ω; fIN= 1kHz; Ta= 25°C, unless
otherwise specified.

Value
Parameter Symbol

MIN TYP MAX
Units Conditions

Operating Voltage Range Vop 1.8 6.0 V
Supply Current 1 ICC1 4.5 mA no signal,RL= ∞
Standby Supply Current ICCS 18 µA VSTBY= 0V
High level Input Voltage (Standby) VSTBYH 1.6 V at operating mode
Low level Input Voltage (Standby) VSTBYL 0.0 0.4 V at stand-by mode
Input Current (Standby) ISTBY 62 µA VSTBY=3.3V
High level Input Voltage (Mute) VMUTEH 1.0 V mute off
Low level Input Voltage (Mute) VMUTEL 0.0 0.2 V mute on
Input Current (Mute) IMUTE 22 µA VMUTE= 0V
Total Harmonic Distortion 1 THD1 0.5 % RL=8Ω,VO=3dBV
Output Power 1 POM1 400 mW RL=8Ω,THD≤10%
Mute Attenuation Att 90 dB RL= ∞
Output Voltage 1 VODC1 1.67 V RL= ∞
Output Voltage 2 VODC2 1.67 V RL= ∞
Output Offset Voltage VOO -1 mV VODC2-VODC1
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TK10566M
VCC= 3.3V; VSTBY≥ 1.6V; RI= 20kΩ; RF= 100kΩ; CREF= 0.1µF; RL= 8Ω; fIN= 1kHz; Ta= 25°C, unless otherwise specified.

Value
Parameter Symbol

MIN TYP MAX
Units Conditions

Operating Voltage Range Vop 1.8 6.0 V
Supply Current 1 ICC1 5.2 mA no signal,RL= ∞
Standby Supply Current ICCS 18 µA VSTBY= 0V
High level Input Voltage (Standby) VSTBYH 1.6 Vcc V at operating mode
Low level Input Voltage (Standby) VSTBYL 0.0 0.4 V at stand-by mode
Input Current (Standby) ISTBY 62 µA VSTBY=3.3V
Total Harmonic Distortion 1 THD1 0.45 % RL=8Ω,VO=3dBV
Output Power 1 POM1 400 mW RL=8Ω,THD≤10%
Output Voltage 1 VODC1 1.67 V RL= ∞
Output Voltage 2 VODC2 1.67 V RL= ∞
Output Offset Voltage VOO 6 mV VODC2-VODC1

TK10569M
VCC= 3.3V; VSTBY≥ 1.6V; VMUTE≥ 1.0V; RI= 20kΩ; RF= 100kΩ; CREF= 0.1µF; RL= 8Ω; fIN= 1kHz; Ta= 25°C, unless
otherwise specified.

Value
Parameter Symbol

MIN TYP MAX
Units Conditions

Operating Voltage Range Vop 1.8 6.0 V
Supply Current 1 ICC1 9.0 mA no signal,RL= ∞
Standby Supply Current ICCS 18 µA VSTBY= 0V
High level Input Voltage (Standby) VSTBYH 1.6 Vcc V at operating mode
Low level Input Voltage (Standby) VSTBYL 0.0 0.4 V at stand-by mode
Input Current (Standby) ISTBY 62 µA VSTBY=3.3V
High level Input Voltage (Mute) VMUTEH 1.0 Vcc V mute off
Low level Input Voltage (Mute) VMUTEL 0.0 0.2 V mute on
Input Current (Mute) IMUTE 22 µA VMUTE= 0V
Total Harmonic Distortion 1 THD1 0.5 % RL=8Ω,VO=3dBV
Output Power 1 POM1 450 mW RL=8Ω,THD≤10%
Mute Attenuation Att 90 dB RL= ∞
Output Voltage 1 VODC1 1.67 V RL= ∞
Output Voltage 2 VODC2 1.67 V RL= ∞
Output Offset Voltage VOO -1 mV VODC2-VODC1
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THD vs Pout
Vcc = 3.3V, fin = 1kHz, THD ≤ 10%

Pd vs Pout
Vcc = 3.3V, fin = 1kHz, THD ≤ 10%
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THD vs Pout
Vcc = 1.8V, fin = 1kHz, THD ≤ 10%

Pd vs Pout
Vcc = 1.8V, fin = 1kHz, THD ≤ 10%
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THD vs Pout
Vcc = 5.0V, fin = 1kHz, THD ≤ 10%

Pd vs Pout
Vcc = 5.0V, fin = 1kHz, THD ≤ 10%
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Icc, Iccs vs Vcc
no signal, RL = ∞

Istby, Icc vs Vstby
Vcc = 3.3V, no signal, RL = ∞
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RR vs freq
Vcc = 3.3V, Vripple = -20dBV, RL = ∞

Vout, THD vs freq
Vcc = 3.3V, Vin = -26dBV, RL = 8Ω
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